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This Question Booklet is in two versions — Bengali and English. In case of any dou

or confusion, English version will prevail.

GROUP - A
A. Feffis erqefm Sug we ( IefResfees ): 1x21=21
1. 99 &[T Computer-43 OF[ ¥
a) BASIC b) COBOL
¢) Assembly Language d) 4GL
2. sifafss @ feyes s SO AT & T T
a) ALU b) CPU
¢ CU d) amd @GS 97 |
3. Awd mﬁ Impact Printer-£4 THIRA ?
a) Inkjet Printer b) Thermal Printer
c) Laser Printer d) Dot Matrix.
4. @ output X-a3 WA F T@ ?
A
B X
a) A+B b) AB
c) A+ B d A+B.
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10.

11.

12.

13.

SOP @ POS operation-43 (%@ 370 W
, ic Circuit
a) ' Logic Gates b) Logic CIrc

€)  Two-Level Circuit d) Gates.
Internal Command of# ¥@

a) command.com .b} 10.8YS

¢) Config.SYS d) aT RIS |
@Fb CUI based operating system-43 GHIRAT T

a) WINDOWS b} LINUX

c) C++ d) MS-DOS.
(T File A Folder-a3 pathname-d3 T IRZS o ZCT
a) \ b) /

c) $ | d) #

Directory (% (¥4 DOS commands &I

a) RD b) CD

¢) CLS d) DEL.

Visual Basic 6-99 S20d THAMEE SIFT IE

a) Toolbox b) Code Window

¢)] Menu bar d) Properties Window.

VB-6-9 (FIAl program run 9
F5-&9 A= b) Ctrl+F5 &9 AR

Run —» start option-9% 7R d) 02 3% |

a)

c)

VB-6-99 Form-¢9d extension 20

a) .vp b) .frm

c) .ocp d) OWd TS | |
VB program-4 code I

a)’ 0P (instruction) b) SRCEE

c) FCIA d) AT RIS 7Y |
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14. DIMM,N, R

M = “36’
N =“16"
R=M+N
GUA R-A7 T ZE
a) 52 b) 64
c) 3616 d 1
15. MS-Word-€ Bullet A6 ............o........ IS A TS |
a) Edit b) Paragraph
c) Text | d) Clipboard.

16. Word document-a3 & text 6~ FA@ Ty Aa© *HFI6 T
a) Ctrl+ A b) Ctrl+ S
c) Alt+A d) Alt+ S

17. MS-Word-9 page setup command group (& ribbon-Q «ICF ?
a) Insert b) Page layout
c;) Home d) References.

18. MS-Word 2007-4 font size-49 FF T

a) cm b) inch
c) point d) amd @R 79 |
19. MS-PowerPoint 2007 SN FTHGANA HICTA 74T
a) 70 b) s
o 6 d) 4%
20. MS-PowerPoint-@ (¥ view-(® @36 presentation-93 ATF slide AQFARY 7]
qy ?
a) Normal view b) Slide sorter view
¢) Outline view d) Note view.
21. MS-PowerPoint-4¥ presentation-& IZS RS fEwdaes 7= ‘q‘q
a) Template b) Slide sheet
¢)  Background d) amd W03 |
IEE.VNI-NIS-*OO:BS(OG)
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GROUP-B

e e Bog we (iifve Soafsfee (Rew crrofi %M © 1 x14=14

1.

10.

11,

LCD-% 37>y a1 corant )

3l
Cache memory @ RAM-&3 ST4T 919 sifs @M 2
(56)g =(?)y0

Hqql
MSB '8 LSB-937 ¥ 1% =Tedl |
=t w1 @ 2

e

AB + BC +CD -a% Boolean expression-l6 &P FATS G AND gate-dd
TS ?

fe-wmenraa 5@ qfo e |

3-input AND gate-49 logic circuit W%4 91 |

F(X, Y)= XY+ Xy -a3 «f8eF 57 3@ |
et
o) SR TITT &™iiel F@ ¢ AB+ AB = A.
wifGeaianfi wwoiras Fiobme aafh Samad we |
RRE]]
(T AT (I TN ATEH T Al (@ 2
Visual Basic (oftanfis-a3q @3t 1@ el |
lVB-Lﬂ Input Box( ) function-4d syntax-fo 1041 |
LR
VB-6-4 List Box 8 Combo Box-99 W47 SIS (=10l |
VB«® X variable(® integer type 8 Y variable-(& string type e CamE
A AT |
MS-Word-tﬂ-Superscript option o e Ui ?
et

MS-Word-@ IRZS 46 font @F AV oAl |
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12. MS-Word-a Page orientation 3% 39% 27 @ N Ho

13. MS-PowerPoint-9 slide show BARTAN (BT slide CUTE L2 slide-9 jump ¥
shortcut key b 2

14. MS-PowerPoint-9 9% slide transition-a3 5% ol |

YT

MS-PowerPoint-9 On Mouse Click option-® (@™ command group-99 W0

Afs 2

GROUP-C

Cc. e erefm Soa v ( wfclos el ) ( faame ool sosdy ) - 7 x5 =35

1. a)
b)

c)

PO AAER IPATHIER ol tafdr oo |

B et : OCR

Micro computer 8 Mini computer-a3 T4 46 N3 &A1 | 3+2+2
Y

THIRATTR #ieW TR SThaa @afE e |

e e - cpu

Data ‘8 Information-93 W4 <N1e/a] & | 3+4024+2

Plotter & ?

SRAM 8 DRAM-A¥ 74] #19<] TT41 |

Bi=t et E s o= | 2+34+92
T

Primary memory-3 SWIZATE (aM) Eeal |

Bia 3121 : Barcode Reader.

frsfafes fertrefa Impact S Non-Impact @ ciféfasis s

i)  Inkjet / Deskjet Printer

ii) Laser Printer

iiij Dot Matrix Printer

iv) Daisy Wheel Printer. 3+2+2
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b)

b)
<)

o. a)

b)

c)

d)

a)
b)

c)

NS-COMA

I's complement a%@ =@ R =) - (10010}, - (11000,

TG 2 (3297)15 =(?)g

BIFE Refy gy (10111-110), x (101 }),,.

L]

3+2+2

%w:(snm;m =(?),o [ Binary-(s *f#eé3 a1 1 |

2’s complement IRZT F(q R @ :(11100), - (10000 }),.

Ol @ SIS fFefg e - (110111), + (101 ),.

NAND gate F/9R19 72 OR gate 0091 I |

W FW@I: F = ABC + ABC + ABC + ABC.

AT P : A+ 1 =1,
Hqr

2+3+2

2+3+2

frsfefas pos Form-f09 truth table Ht@ @ Boolean expression 5Tl :

F=mn(023475)

2 input I OR function-&3 truth table- S |

-

oI I : (AB+AB) = AB+ AB.

3+1+3

Compiler I9%% X¥ @99 {6 high level language 8 interpreter 9O 7

@5 4f6 high level language -9 THZ9 7G|

MS-DOS-@ REN command-&a9 F1& 9] ?

WINDOWS- text file 0S4 @81 qW @%7 @I application software-ad

CHIZI 18 |

BIOS @ ?

. e
=feie 2
Software-99 GHIEITHE fafiars a@r |
i1 &0l : e |

(ELVN)-N/S-*0038(06)
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( English Vorsion )

GROUP - A
A.
Answer the following questions (MCQ Type ) He2rm
pe):
. Thei :
ANguage used in 15t gcneration computer is
®  Basic b) COBOL
€)  Assembly Language d) 4GL
2. . i . i
.......... Is responsible for doing arithmetical and logical function.
a)  ALU . b) CPU
c
) Cu d) None of these.

3. . 1 .,
Which of the following is an example of Impact Printer ?

a)  Inkjet Printer b) Thermal Printer
c) Laser Printer d) Dot Matrix. -
4. Here what is the value of output X ?
A :
X
B
a) A+B b) AB
c) A+ B d A+B.,

Which is used in case of SOP and POS operation ?

a) Logic Gates * b) Logic Circuit
¢} Two-Level Circuit d) Gates.
6. Internal commands belong to

a) command.com b) [0.SYS

c) Config.SYS d) All of these, e

An example of a CUI based operating system is
b) LINUX

a) WINDOWS
d) MS-DOS.,

c) C++

IN.S'COMA 'ELVN).NIS-*OOSSIOG) 7/ 12




8. The sign/symbol used in the pathname of File or Folder is
A\ bl /
© 8 d #
9. The DOS command used for deleting the directory 1s
a) RD b) CD
<) CLs . d) DEL
10. The ................. is, in the right side of the Visual Basic-6 Window.
a)  Toolbox ° b) Code Window
c) Menu bar d) Properties Window.
11. In VB-6, any program can be run
a)  with the help of F5
b)  with the help of Ctrl+F5S
c)  with the help of Run —» start option
d) all are correct.
12. In Visual Basic-6, Form's extension 1s
a .vp b) .frm
c) .ocp d) all of these.:
13. In VB programming the code is a/an
a) instruction b) object
¢) control d) none of these.
14. DIMM,N, R
M = “36’
N =“16"
R = M + N, here the value of R will be
a) 52 b) 64
c) 3616 d) 1
15. In MS-Word, the Bullet Button is situated in ................ command group.
a) Edit b) Paragraph
c) Text d) Clipboard.
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16,

17,

18,

19,

20.

21.

B.

"WOrd
* 1€ shory

a) C cut ke

tr y 'U.S “ :

Alt + A b) Ctr] + s

In Mg

“Worg, d A+
A  Insen ) Mibbon we find the page setup command ?
c) Home b} Page layout

d} References.

b) inch

d) none of these.

a) 7
b 5
© .6 d 4
In whij iew i
ich view in MS-PowerPoint all the slides of a presentation can be seen
together ?
a N iew
) ormal view b) Slide sorter view
c)  Outline view d) Note view

The predefined slides of MS-PowerPoint is known as

a) Template b) Slide sheet
c) Background d) All of these.
GROUP-B

noted ) :

1.

2.

Write the full form of LCD.
OR

Which has higher speed — RAM or Cache memory ?

Convert (56 )g =(? )
OR

Write the full forms of MSB and LSB.
(ELVN)-N/ S-%0038(06)
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9/ 12



10.

11.

12,

13.

14,

NS-coma

What do you mean by minterm ?
| OR L

How mﬁny AND gates will be required to express the Boolean function

AB+ BC+CD ?

Write the De-Morgan’s Laws,

Draw the logic circuit of 3 ( three )-input AND gate.

Find the complement of F( X, Y) = XY + XY .
OR

Usihg truth table prove that — AB + AB = A.

Give an example of multiprogramming operating system.
.OR

Why there is no need for a translator in machine language ?

Write a function of Visual Basic Programming.

Write the syntax of Input Box( ) function in VB.

OR

What is the difference between List Box and Combo Box in VB-6 ?

How do you declare variable X as integer and variable Y as string in Visual

Basic ?
In MS-Word where is the Superscript option situated ?

OR

Write down the names of two fonts used in Ms-Word.

How many types of Page orientation are there in MS-Word ? Name them.

What is the shortcut key for jumping from any slide to first slide during slide

show in MS-PowerPoint ?
Name any two slide transition in MS-PowerPoint.

OR

I which command group the ‘On Mouse Click’ option belongs, in

MS-Powerpoint -
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NS-COMA

he fo owi st GRoyp _ c
{ Descript.ive TYpe ) ( Alternatives are :3: :;
Ite three (3) Character:isucs of 3 ) H
Write 5 short note on 0 *d generation computer
Write two dify CR
llerenceg between Micro computer and Mini computer
3+2+2
. OR

:;:rt:plj)wn the characteristics of S5th generation computer with
Write 5 short note on CPU.

Write the difference between Data and Information. 3+2+2
What is Plotter 2

Write the difference between SRAM and DRAM.

Write a short note on Blu-ray disc. 2+3+2

OR

Write the characteristics of Primary memory with example.

Write a short note on Barcode Reader.

Classify the following printers as Impact Printers or Non-Impact
Printers :

-i) * Inkjet / Deskjet Printer

i) Laser Printer

iii) Dot Matrix Printer

iv) Daisy Wheel Printer. 3+2+9
Subtract using 1’s complement : ( 10010 ) = (11000 }2 i

Convert it : (3297 ), =(?]g4

Calculate the product: ( 10111:110 )o x (101 ]2. _ 3+2+9

OR
(ELVN)-N/S-%0038(06) 11/ 12




Convert it : (8D-A4 l16 = (?);o | without changing into Binary |
Subtract using 2's complement - (11100), - ( 10000 ),.

Calculate the Quoticnt‘and Remainder: (110111), + ( 101 ),.
2+3+2

Draw OR gate circuit using NAND gate.
Simplify it : F = ABC + ABC + ABC + ABC.
Proveit: A+1 =1, 2+3+2
OR

Draw the truth table and write down the Boolean expression of the
following POS form -

F=1(0,3475)
Draw the truth table of 2 ( two )-input OR function.
Prove it : (AE-!-HB] = AB+AB.

3+1+3

Give examples of two ( 2 ) high level languages where compiler is used
and two ( 2 ) high level languages where interpreter is used.
What is the function of REN command in MS-DOS ?

Give an example of an application software through which text file can

be created in WINDOWS.

What is BIOS ? 4+1+1+1
OR
What is spooling ?
Classify software with example.
2+3+2

Write a short note on Loader.




